QuesTion 1 Complete:

a If log,x = c then x = b log,xy = log, x + %“
¢ log, X gl%@_&g,#é d log,a = ,

e logal = f logox"= ILX eOﬂ“_x,
QuesTioN 2  Express as an integer:
a log;27 = 3 b log,32 = 5 ¢ logsh = l d log;1 =0
an 3 =33 on 25-23) on 5'- 5 o T = |
e log36 = 2 f l0gpl00000 = 5 g log;343 =3 h log,256 — &
51=36 ICS- !QQOBD . 23_343 w28 _256
1 Write each expression in logarithmic form.
a 9=32 b 8=23 c 62=36 d 25=32
eogq—-z- g 8=2 &336:2 log 32 =5
3= (zjz 6 3
e 8'=8 50—1 g 64=43 h 3°=243
Q _ | e(g 64=3 log 2463=5
8- — ] ¢ 95
0 1 - . 1 'l, 3 ]
i 5 z J S - | ,\/3 = 32 | ﬁ =73
.05 4 . F I 3‘/__7_[\
sl -1 b 9. 5
3 3 IR 300
m 92 = 27 n 38 = 25 0 144:=T§ p164=§

2 Write each expression in index form.

a logs25=2 b log,16=4 ¢ log,7=1 d log,8=3
2 | 3
52125 216 F'-7 22-8
e log;81=4 f log,l00=2 g log,32=5 h log,1=0

3%_ 8| 0= 100 95_33 £ |




. 72 |
1 7=V, b= ]
2
1 2
m log,; 3= = n logs S5 = 3 0 log84=§ P logu00 (WO) E 3
| ) 2, (-2/3)
2317 3 575  8&%_ 4 o002 L
0
3 Evaluate: .
a log,, 10 b log, 16 ¢ logy27 d log, 32
—_ =2 = =5
e logé‘l f logio 1000 g log;, 36 h log; 81
=0 = 5 = =4
i log, A2 Jj logg2 k log, G) 1 log, (é)
= l/z = l/‘S = = ' = —'Z
5 Solve for x.
a log. 8=3 b log,9=2 ¢ log, 13=1 d log,64=6
x = 2 = 3 X = '5 = 2_
e log, 121=2 f log,64=3 g log 243=5 h log, 10000=4
X = ” - oy — L" X = 5 x = 10
1 | 1 1
i log, (5) =-1 j log, (3_6) = -2 k log, (1_6) = -4 1 log, 6= 5
L = 5 o - 6 o = 2. X = 6
1 2 3 6
m log 2= 3 n log. 4= 3 o log, 27= 3 p log 64= g
2 3 €/s
2= 8 L= e I3 L= 654‘
Iy 3 1_(3 3 942 799 _ ¢l
w88 Yg=)  mr=h=th wp-)3=11 X

=8 BT L:‘\/mf:B?_



2 Write the missing numbers.
a log2 =1 b log_JD =(

d log2+ log“E] = log 8 e log 36— logu = log 3

g log3'= mlog“B h log“_ll log“7[3'
4 Simplify:
a log, 3 +log,2 b log,5 +log,3
= ()OJQG = &3«,-,5
d log,6 + log,3 e log, 15+ log, I
- - ]
- g, 8 - g, |
a log 10-log5 b log 36 — log 12
10 ! 56| = @ 5,

- — | =00 2 = —_— o
- on“ ( 5) (j“ Qﬁ« 12

log,28 — log, 14 e log,3—log,2

i b

1 Evaluate each of the following using the logarithm laws.

a log,,3+log,,4 log; 15 —log; 5
!
QDJ () Lo, 2= by, (5) g3
=, 12 12
d log, 48 —log, 6 e log, 80-log,5

ol byted <l Bk

c logm32 =3
f loguS = log §°

i —-mlogu3 = log“%-

¢ log,7+log 4

= &?ng

f log,1+log,17
= +
= G, |
¢ log 100 - log, 10
10
f log,7 —log,5

= b3

¢ loge 12 +logg 3

%/113 G)(jé% J

f log, 2 +log, (%)

_ fjl/mzl)zéij;‘}:o



i logon40—1logy, 4

g log, 36— 2log43 h 310§1054éolog,0
8 _ =1
Q‘?(%) Qf‘yq %7 A A L
=g, (== 10
J longS—log240 k 4log82+2 logg 16
~ 5 _|_ /3 2
- ?og {4—5)=?31/8) fo(j ?j I = {g,5°- Pfg
/) 3 5642 _ ‘H_eojwoz
X -
Iflog, 5=1.16 and log, 10 = 1.66, evaluate:

a log, Sa b log, (l[—?)

5+ ~log 10 —Coq, o —lega _lbqa 5
% &g :Qg g %ﬁg.__-o.lé

I 2log,,5- logm(i)

= 6 4"' 2 ‘6 .66 — ' &= O l% :__)__
d log, 25a e log, 104’ ’ f log, 1254°
0325+?oj :na(ggodﬁaa _ 5+@3 a?
_ xllg4 = 186 +2xlog2 3116 + &) = 6.48
20@3 Al 2_3,,@2 ~ g6 +2 9 346 ,
g log, a5 | h log, +/5a i log (%)
g s bg St Gl B g0
_ | x 16=1.58 -1 A ;l[l 6+ _ % — |.66=2x|-1.¢6
l+'x z[&ﬁ o “Q]_ o J : 0.3
Jj log, 2a k log, (g)— ' 1 log, (21)
o 5 a
— Q? ,O) ()500‘1) Gy =, Q,Q- % % j __eog&la
_ _ O _
_lSl i_[:léll5] | _l-ou'-S--l{r.ée 11§ - s 0 |
olve logs[logs (logs x)] = 0. = 0 L 10 _ s
= | Qog - =1l

So we wadt foue __|.5

6035 (Q"(js’q =

ore =5 _3115

or ., 00351,:5;5



